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2 | -9 T GEHH Ted ST, 39Ty Eidl %
o wferequt agt | T O O & U fae e
% R} %1 21ET L Hehd & 91 9 Afedi ey 37
o1 ufEsIet & fomfor &) i s ged © |1 3f8
a1 3fees g Wit arfeeRrd 3 Fmfor gfErseet
T IEEAA BId &, df 2RUa 1 feufa e o gendt
2 138 W ¥ faved & forw &8 2w St wea i
& THTH 91 @ © | G g A UE gwifad 1z,
e fu g |

6. TH TG 1 &I R FT 2 7

(A) Tt T ERETOT AT HECAqUl & Fifeh geat
T had 3% T I A1 8

(B) = ATl STt Gl el frfE e & fe
STRTERT % |19 g8 HM

(C) TSI aTS 1 TSR 311 3nga -y
Hag

(D) i Efifira & SRt | e Y

7. gedt i war &1 R wfdwa o, wea
399 % fog Suesa @ 7
(A) 0.1%
(B) 0.001%
(C) 0.67%
(D) 0.067%

8. Fr=fafaa o & F-wr ufess # ol & o=

I T FHTIET HI0T Bl Hehel1 8 7

(A) T& T3 o it & e Ol & T
|ra 8

(B) wifersa # a1t urft & Hidl W T

(C) =i TSt U oh e O STaraT T e
g T SRR & %9 E

(D) fafir el # afemmi i sweHma

S/F/P/11/2020/ II-A

9.

10.

11.

o= & @ o Fifm & oramw @ Fred

& e < g 8 7

(A) st GRTETIS| o e e had 3%
it € ws o ford 3etey 2

(B) Wil 97% U1 WAl % I9v & ford

(C) Ut = ey fafia < & o=
TRl i 3ohe T i B IE F A

(D) Ewaq: Uil sl SAFIEreHAr 3T o S
e o feurfa Ser et

e 1 291 & o= oo oM & fod F-a

I SAfees g9TEt g 7

(A) Tt el = T8 = 3 =ifed

(B) uft & stfermr 3 fork Fm e =l

(C) TT =T ELET AT wIfed

(D) TgF T (FATEES A=) 1§ AHA
& Forrareor o o saferes wemaerefi s
=1fed

(A) 16
(8) 18
(C) 20
(D) 24
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16. WA TG Sx i vae f A e 20, TOUTE H OGS | T8 SHER 1 i 6l
g7 2 o s 791 % wreawm @ ufd @9 105 2
(A) maﬁ qTt %1 JaTE BT 8 7
;2 awﬂ?'rf; (A) e ¥ afeate e 3 wrem & we T
(D) aféqoft vereh &= U ) 9T % AT SR SR e &
fer
17. s o =féroft gereh &= o srame < i N . _
et vt 36w i e g A E 7 (B) Afeh! G eI b Y B2 & ST
(A) e TR 1 FTATERO 37T o g A e e 3 fere fof vimer o et <e e
qqel o1 T 9 54 o
8) xﬁ%ﬂ;ﬁa%%@mmﬁwﬁ (C) ¥ T o1 & fou fof weyaar @a W
T FeTe e wifadenedt & ford 31y

(C) wfi ware ot 7t worredt, gt i ge §
3feren =aTges off
(D) wrer st Ffeat e 5 faferaw g et

&F ITHR & “E" §9 T
(D) % deh 4 & foru & vt W =g & ur

qE I 1 e I SATATHE & HaH] i ST
18. TSl W sTgale el 8 5 Tt Tt =i | 2 % foru waieg wiferremedt o
&1 feheaq agnm @
(A) 105 T Ufd Ths
(B) 105727 21. (Tt wrer #) =8 ) B, S ged
(C) 10500 ufy ke w9 & Myfer F1et & 2 afshd e e |
(D) 105002 (A) SHTEpet
19. WU % AR = 8 9 ol e woafeate o il
St 3wt 3 e &, R e
(D) =

(A) & TS I U S S I AEE 9w
SeTATE T Tfatafe 8 @ o

(B) 9 hae WTel T Y g F T fewd W
7T ST &

(C) A Hi-eft 39 T W@ B 9 E,

A

itz o w1 F Tt fa 1 (S W )
1 1 ST & 7

St foF wvft sAr & T2t i @ et (A)

Tq feard 3 e (B) WAWSEfeR
(D) e W T R 6 A ey et @ (c) wfereiifFre

I FY AT S I 2 (D) IR

S/F/P/11/2020/ 1-A
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16.

17.

18.

19.

In which of the regions are flow features
seen on Mars ?

(A) Western plains
(B) Northern highlands
(C) Southern plains
(D) Southern highlands

What does the discussion in paragraph of
runoff channels in the southern highlands
suggest about Mars ?

(A) The atmosphere of Mars was once
thinner than it is today

(B) Large amounts of rain once fell on parts
of Mars

(C) The river systems of Mars were once
more extensive than Earth’s

(D) The rivers of Mars began to dry up
about 5 billion years ago

The amount of water flowing down the
outflow channels on Mars is estimated to
be closest to

(A) 105 tons per second
(B) 105 tons

(C) 10500 tons per second
(D) 10500 tons

According to paragraph, all of the following

are true of the outflow channels on Mars

except

(A) They formed at around the same time
that volcanic activity was occurring on
the northern plains

(B) They are found only on certain parts of
the Martian surface

(C) They sometimes empty onto what
appear to have once been the wet
sands of tidal beaches

(D) They are thought to have carried
water northward from the equatorial
regions

S/F/P/11/2020/ 1I-A

20.

21.

22.

In paragraph, why does the Author include

the information that 105 tons of water flow

through the Amazon River per second ?

(A) To emphasize the great size of the
volume of water that seems to
have flowed through Mars' outflow
channels

(B) To indicate data used by scientists to
estimate how long ago Mars' outflow
channels were formed

(C) Toargue that flash floods on Mars may
have been powerful enough to cause
tear-shaped “islands” to form

(D) To argue that the force of flood waters
on Mars was powerful enough to shape

the northern volcanic plains

A animal is one that is active
primarily during the twilight period.

(A) Crepuscular
(B) Diurnal
(C) Nocturnal
(D) Auroral

A person who talks in sleep is called as
(A) Philatelist

(B) Somnambulist

(C) Somniloquist

(D) Oneirocritic
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32.

33.

34.

35.

T HER ufwa § efafas s o
i § |

(A) T=nifen, Zrafiem afi feifen

(B) ZrafieH, w=hifen 3kt femifen

(c) femifen, zrafism it w=hifen

(D) femifen, w=hifén aii zrafiem

Teeehi 3T @&l &1 fifde w0 &
%q;:ﬁw%ﬁ-&mmm@%m;ﬂw,
WiskATST SR wenaTt & s o gfed T & forg ;
weyH ufafsEn wem @ & foe ; wes
! 3 & % fore 3w e S 2
(A) TTITEE FEFRIE
(8) 3aE FRyfrha
(C) wiftiieat FYfHIH
(D) (B) 3 (C) i
Tertt % AU straverss yreafes gadt 6 meud
el et 2
(A) w1 #it e |

(B) 3uW wfue & & fafi= yem &
g w

(c) Frfvaaar &t gfe foesr g e &
uftorrt =t sifersrafi i s wedl @

(D) 3uiEa gt

(TUST AT H) WUF “ FHIIAS A RIS
gefild s @

(A) FramdfiaEn S vs R daE
(B) = = wraTal =t W

(C) T S F WY UF @

(D) Iuliad § & FIE T

S/F/P/11/2020/ lI-A

36.

37.

38.

AR

39.

afe 02/04/2021 YA 2, ?ﬁramé R
22 3f e Fraferfias & & - 8m ?

(A) IERETR
(B) wifHEm®
(€) aaEm
(D) HHER
Ife p 3R Q 319 TUH &1 19 | FEe o
3 S 3R ot 3797 T F I A aEe o |
fo s 3fit Q faepol ot wrere 3z | firem €,
P SH qe |
S R
P Q
(A) afeqor-gd
(B) aféor-ufyem
(C) Ie-gd
(D) Ie-ufrey
o 1 9 fore) gnfafa Hiaadi e ?

(A)
(B)
(€)
(D)

a0 o-w

(eTrsft w7 ) Fr=ferfiga o & -a faeey
e ?

(A) Tafeem e <om o |

(B) et site 2 Stom T |

(c) fafemaie A S=TTH |

(D) Tufeert sz O S T |
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40. (3Ersh o) Frafafaa & @ ww-ar ey
eI ?
(A) Wit 39 T gged |
(B) = 89 g fem <57t |
(C) Bt fw e fem gt |
(D) T A= e fw g |

41. UF # W ¥ YE F& 3 Al HAW:

6.25 foh. o1, ufe w2 3w 7.75 for ot wfa =2
FIfd & 9ot & | afe 3 e 2 fown o wer
&, @ 3% 19.5 .. T om # fa v
T 7

(A) 172

(B) 22%%

(C) 13

(D) 12°%%

42. Af 9%y 8 He witfew s =k 8 fai & 1/3
F HI T F U 8, 91 Fore srfafeEa &m
qTeht & 1 gfafe ua stfafad 92 sm e
4 f&=1 | g =R a7

(A) 23

(B) 32

(C) 36

(D) 46

Ifd BRANCH 1 &= DTCLAF & 8, a1
fraferfaa 4 @ s9-1 g ga9y 3fia
FATR 7

(A) PCQAWG : RESCUE

(B) NATION : CYRGMK

(C) DPGGPF : FRIEND

(D) NORMAL : ALTFCD

43,

S/F/P/11/2020/ 1-A
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44,

45,

46.

YA

(a) Tt game Hidh Bt & |

(b) Tt faarsal dea & fow st et € |
ﬁm:

(i) Fo femaizas & |

(i) =h1s Torars amg =& 2 |

(ili) Fo ¥ed & fore o=t e qag € |
(iv) G+ dea & fo er=a fiersai za & |
fau 0 e & foru I | & - fred
TE B 7

(A) Fae (i) STTERT HTaT

(B) (i) AT (ii) ® ¥ <hI§ o} YL Htam B
(C) e (i) 3 (iii) ST HTaT &

(D) ITIE | g off SrgERer T e B

Q1F, S2E, U6D, W21C, ?
(A)
(B)
(€)
(D)

Z88B
Y66B J
Ya4B
Y88B

gfe 19 T & 9HEH ¥ U EEE 3deh

T &, a9 F= Ha 7

(A) SAETHE 3T & Wrad HI gl grad
Fal

(B) =di sl 7 Wl sl SdTaHT 21

(C) - 37ETS FX F8T © g IA S

(D) SrTaTETT gk & FameRH wH Hfd
ETU
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47.

48.

49.

ST9=R! Ut =erdl & foF 319eRt g2t covip-19
yitsfea 2, @119 =1 i1t ?

(A) 39 TSI 1 IeETE TP

(B) Y WA F MY W ZaTgdT FaTait

(C) 3fua iferemiE! & g9 o o st seht
TeITE o % foru e

(D) 38 fordlt @ oft 1 =™ of = & ofat @
T o fore e

9 v e forg w® € o ag 9 € 6
TieT o SR STTehT Tl 37587 31 Tl L
weaRer I ar wifta 1=
forieR mifies % &9 | 299 w0 ?

(A) 379 ErEd =Rt Tleq & 98 Fohel TE H
% fou geme 3, F9ifE 3 98 e
T A 3TeRT Wi @OE 8 S

(B) I8 3T qTH IH U= &1 9TH = & fow
N

(C) T-FEN FU Hifeh I8 T Tl
3o AN &

(D) & =R H Ffters @ e w0

319 YTEX W ST ST o 0] el o1,

s feufa ok 3 s meifen & 1000 @

37 Wl | 3770 & | U Shiaet o ®9 3§

s et # & fFm =il ol vea 3 7

(A) STETamg S it fafrear wemar o
ie 1 e Fl

(B) difea =i =t farfta ez it swon wE

(C) wsfirivl =t gaférd T W TyTTEAlE
i

(D) Fo oft T i Fifer Ve & wieA g B

S/F/P/11/2020/ II-A
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50.

51.

52,

53,

T € H 79 U e gunE § wive e

AR &, 39 T H4T 7

(A) @19t Tt wfafafemt =6t gia e a g
Eul

(B) f% ufereeifesr &1 <t %1 & 9 Uah HwdTe
& 70 ot W FameT &

(C) T FIf-19 wteqvr = foru Sweqarer sian

(D) wfce sg™ et gand o

STt v o o e B s W TR e e ¢
o foru =t I g |

(A) 9 foRelt ATE 22t wigd w14 |

(B) T wrza w3 feRet |

() == forett 37 2adt wiga &g |

(D) 3 Forett i Zadt wrga & |

(Trsft v ) et T forg 3 e a4 |
(A) S S 7 TG g B4 Wi SHHRR !
(B) 82 q€ g AIEF ¢ 89 B S |
(C) &2 I J 5H T 89 i ShHe 7
(D) &2 e 4 EH, 3 B B SHFE ?

(st T o) welt ‘snféwer gm & w1y faa

T W |

amdem Uz e |

(A) 3/3

(B) B/amfemet il seaa &l

(C) &/=

(D) eTfEshet il srea el / 3nfeehe shi T&ta
Ehl ;
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47.

48.

49,

You come to know that your neighbour is

COVID-19 positive, what will you do ?

(A)

(B) Prescribe medicines based on your
experience

(C) Askhim toreportthe matterto and take
advice from appropriate authorities

Cheer up your neighbour

(D) Ask him not to tell to anyone and stay

home quarantine

You are writing an examination and you
notice that your best friend is cheating
during the exam and the invigilator has not
noticed it. As a responsible citizen, what will
youdo ?

(A) After the exam you will advise your

friend not to cheat because if he gets
caught then his future will be spoiled

(B) Will ask him to pass that chit to you
(C) Willignore as he is your best friend

(D) Complain about him to the invigilator

Because of continuous rains in your city there

is a problem of water logging, unhygienic

conditions and more than 1000 cases of

Dengue and Malaria are reported. As a

Corporator to which of the following things

you will give importance ?

(A) Arrange for medical support and food
to needy people

(B) Announce financial help to people who
have suffered

(C) Relocate all citizens to safer place

(D) Not do anything as it occurs every
year

S/F/P/11/2020/ II-A

50.

51.

52.

53.

Recently you attended a wedding function
and returned home, what will you do ?

(A) Resume your routine activities

immediately

(B) Undergo quarantine at home for at
least a week if asymptotic

(C) Immediately visit the hospital for
COVID-19 testing

(D)

Take immunity boosting medicines

Find the correct answer for ‘How much are
these mangoes ?’

(A) One kilo of twenty five rupees.
(B) Twenty five rupees a kilo.
(C) One kilo in twenty five rupees.

(D) One kilo on twenty five rupees.

Choose the sentence with correct

punctuation.

(A) What would you like to have for
Breakfast !

(B) What would you like to have for

Breakfast.

(C) What would you like to have for

Breakfast ?

What would you like, to have for

Breakfast ?

(D)

Fill in the blank with correct article pair.
My uncle visited Andaman and
Nicobar Islands and Kerala.

(A) the/the

(B) the/ article not needed

(C) an/a

(D) article not needed/article not needed

[ PT.O.



pr

54. (3t v ) wet ferea & wny fraa T
i |
A EF AT UTE |
(A) aTFd
(B) *gE
(c) feaud
(D) 7&

55. (st s ) wet foshen & oy faa wam
i |
3o faehm STHRT T el |
(A) 29U FH
(B) SSelt FiEA
(C) SHTS
(D) SEo=

56. 1 < TS FEe § SFTAT FF HA-FT BT
=fed 7
2,1,(2/3),(1/2), ?
(A) 1/3
(B) 1/4
(C) 3/4
(D) 2/5

57. @ difeai aret v gfem # 88 ¥e= A, B, C,
D, E 3R F &, fort ofr gew afR i wifermd
2 | 71 Fad 3t Rarfea 912 & s e @
feanfea & | £ AR 92 R 3B, chl T
2 | E U Afaarfed gew 2 3R DUFH qEw # |
freafafaa d a sm-madi 2 7
(A) C FHIUfa?
(8) C,DFITR
(C) D Hfaaifea ?
(D) FE fimaEi e

S/F/P/11/2020/ 1-A

TR ' |

18

58.

59.

60.

61.

T o & o 7 gt T R, e g
T T 8, Ued IS FI TS 1 6 Fd
2 | afe 9 g3t o w5 AT 195 8, A v
g0 g § Frafafes & @ $m-di gen @ 7
(A) 3,4

(B) 5,6

() 7,8

(D) 9,10

U et 3 U Aigen | @, “ grer 6 F
ofq A sew A et /= /A ® ) At
oY H Y FEfa R 7

(A) &

(8) &

(c) =f

(D) et

frferfiad saeen o srqufedm s1am wM-9
€7

BA_BA_BAC_ACB_CBAC

(A) AACB

(B) BBCA

(C) CCBA

(D) CBAC

9! W sms e ®, o amaent
fireft 2 f35 amam e Sieft @ | 9 3wt sqsht
GYeh ST A5 A o 70 Fear ® | 3
F1H 7
(A) STTeRIT a3 I i efier
(B) YT ! BT N IR weAT i fud
(C) ¥y SRt 9T A & fore wame
(D) ™ F ¥Q % PRy W F e FisEn
CELY
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62.

63.

64.

S/F/P/11/2020/ lI-A

19 74TS 3782 o Afdn aEw H & i e uv

(A) @ 3R Ao i qem w

(B) ST =Y 3eqT i

(C) form gu o o o & gre wurd 6t g
Fii

(D) i it Hrdars & forw s =t geea g
& qTE o S

39 U ¥fig A | 30 R AR AU W@ @

2 o5 U S s wrar-fudr = @ wr @

3T T@T R, 379 =1 HAN 7

(A) ==a I 39T F

(B) wraT-Tuar & foru = o1 3@ 37 +fie

(C) === = Feheay gfera o | @ Smm

(D) gam Faanati o v S=< i A W
ST

A1 394 i @ uF $-9 9 B 2,

L | AT T R 7

(A) 38 WeE F % fore wrufiesar o 8 O

(B) feafd i gfe & foru firm & weh = =01

(C) TEI ! IFE L IY T

(D) 3T 39 fredemi = 99 W= 5@ g
I &

65.

66.

67.

AT % fore e srfafe o wa d smifia g
¢ | THTE | 9P o & fou s g9 T |,
AT 9Tt 2fther © MU § | 3719 4T A 7
(A) Teram =€ = Fifer 319 uek feyren & 31
(B) SATITSTeRI Rl shiet shidl, 379 feufa =& am

T AT 3T AR F foh a9 A L

(C) SATATSIH i Hict ek Tk Tga ah
A& S T AU il
(D) 3TTATSTER! %! Shict Fleh Iv8 HIASHH T8 A

w9 foeg =1 auiamen & forg 378w @ s

=iy 7

N T| |F H| |G M
=R

(A) O
(B) K
(C) H
(D) E

TF Bie ¥ e H did 1 UF 9Yg, e
& OE & 919 0NE © | 3 Fa 12 el
40 ¥ &, 1 st H swwe: fRaA fetor aik
a8 ?
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68. The value of the following expression is

Directions (Question No. 71 - 80) : In each of the
questions below is given a statement and followed

: | 2
2—-1; by two arguments numbered | and Il. Consider
9-8x—2 ik ? the arguments and decide which option is correct
¥ T answer.
6 "6 71. Some desks are caps. No cap is blue.
(A) 1 Assumption | : Some caps are desks.
(8) 4 Assumption Il : No desk is blue.
(€) 5 (A) Assumption | is strong
(D) 8 (B) Assumption Il is strong
(C) Assumption | and Il are strong
69. The difference between the denominator (D) Neither assumption | nor Il is strong
and the numerator of a fraction is 3. If the
denominator as well as the numerator is
. , 4 72. “Use Craft colours. They add colour to our
increased by 4, then fraction becomes 5 life”, said an advertisement.
Find the original fraction. .
(A) 7/10 Assumption | : Catchy slogans do not
(8) 5/8 attract people.
(C) 8/11 Assumption Il : People like dark colours.
(D) 10/13 (A) Assumption | follows
(B) Assumption Il follows
. . el 4 (C) Assumption | and Il follows
70. Using the information in the figure and ) _
PQ = PS, find out the value of B in degrees. (D) Neither assumption | nor Il follows
P
B 73. Anger is an emotion; it needs special skills
as to control it.
5 Assumption | : Anger need to be
a o " controlled.
i 2 Assumption Il : Only skillful people can
control it.
(A) 25 (A) Assumption | is implicit
(B) 30 (B) Assumption Il is implicit
(C) 45 (C) Assumption | and Il are implicit
(D) 60 (D) Neither assumption I nor Il is implicit
S/F/P/1I/2020/ I-A 23 [ PT.O.
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74. UH 31 IR Fafchad &5 § Iagehal 3cd
FTER
ek / (TRt | IS o7 g Fafthen ém o
IegeAl I TR L R |
ek [ (UTOTT) 11 : T STCEH T qga ATt
e |
(A) T | fafea 2
() @ |l Fafea @
(€) @ 13 fafea

(D) AdT TS | Tk ka2

75. U 9 S5l 41, 0 FH § S8 S |

ek / (ermom) | ; aftada wEfa F fam R

@eh / (amom) 11 : gUH = s ww wifs

AR |

(A) Teh | ATHT AT &

(B) T I STTERYT LT &

(C) e | 3T || STFET L &

(D) A T | 3R qH 11 ST
Fd &

76. TS WA fHYM’ Wa ST Y U Heeal
AR

TR/ (STTOTT ) | ST H T ieh ST =TT
1R gefera wr=aar & foru vge wem = &
RHR |

e / (RO 11 : A & Tl 0 H s
YIS WETH A1 U IUF1 i SgTa1 24 &1
R’ER

(A) T | guTEETe 2

(B) e Il AT B

(C) e | 3 ||y §

(D) 7t dh | AR A & 7k 1) g

S/F/P/11/2020/ 1I-A

.

78.

79

80.

T € & Tl | arswrs /3ewre & 3w oSt
gaee |
ek / (MO | : 322 22T TEAT B AT |

ek / (LTOTT) |1 : SHSI3A & 99T | A STat
FHETWE G |

(A) @ | gaTerTTe 2

(B) & || wHTEIE B

(C) e | 3 || wvTETe &

(D) 1 aaeh | 3R T € ek || IEEIE @

TS Wi SETEHT 31 ST sIgd Heequl © |
e/ (UTOT) | : STeFfieh TETE S A A
& o @ua *I srgHfea F I ATEvEHa
TER |

ek / (amom) 11 fess i difeat s
HETeHT 1 Iqerstrar Wi |

(A) T | ]

(B) T || WTETEA @

(C) ok | 3T || gt &

(D) &k | 3R T & T 1 IwETe ?

Bt ST YA T B & | IS Gae Tt |
st et 7t At £

e / (s | aeft e e E

eh / (STROTT) 11 : GAEL T o W W& el
TAE |

(A) T | goTEEITE B

(B) @ Il gHTESTE B

(C) ek | 3T | wvTETTedt 8

(D) = a1 deh | 3T & a1 THEed 8

FO PR E ¢ | FO U IR E |

ek / (amom) | : FS qX AR E |

ek / (UROT) 1l : T SRR E |

(A) e | gHTEIIET B

(B) ek || ISTEYITAT B

(C) ok | 3 11 wTEEeAT 8

(D) A | 3T & ek 1 e @




e

74.

75.

76.

A new medicine ‘ALPHA’ is causing
excitement in the medical field.

Assumption | : No other drug is causing
excitement in the medical field.

Assumption Il : Medicine ALPHA is a very
effective drug.

(A) Assumption | is implicit
(B) Assumption Il is implicit
(C) Assumption | and Il are implicit

(D) Neither assumption | nor Il is implicit

The old order changed, yielding place to
new.

Assumption | : Change is the law of
nature.

Assumption Il : Discard old ideas because
they are old.

(A) Assumption | follows

(B) Assumption Il follows

(C) Assumption | and Il follows

(D) Neither assumption | nor Il follows

‘Swachchh Bharat Mission’ is an important
initiative of the Govt. of India.

Assumption | : Aims to provide universal
sanitation coverage and access to safe
sanitisation in India.

Assumption Il : Aims to promote and
provide clean toilet to each and every
household in India.

(A) Assumption | is strong
(B) Assumption Il is strong
(C) Assumption | and Il are strong

(D) Neither assumption | nor |l is strong
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WiFi/internet usage has sharply increased
in recent times.

Assumption | : Internet data has become
cheaper.

Assumption Il : During lockdown time,
people were afraid to go out.

(A) Assumption | is strong

(B) Assumption Il is strong

(C) Assumption | and Il are strong

(D) Neither assumption | nor |l is strong

Conservation of natural resources is very
important today.

Assumption | : Natural resources are
abundant and consumption need not be
optimized.

Assumption Il : Future generations will
depend upon the availability of the natural
resources.

(A) Assumption | is strong

(B) Assumption Il is strong

(C) Assumption | and Il are strong

(D) Neither assumption | nor Il is strong

All mangoes are golden in colour. No
golden-coloured things are cheap.

Assumption | : All mangoes are cheap.

Assumption Il : Golden-coloured mangoes
are not cheap.

(A) Assumption | is strong

(B) Assumption Il is strong

(C) Assumption | and Il are strong

(D) Neither assumption | nor Il is strong

Some robbers are fools. Some fools are
rich.

Assumption | : Some robbers are rich.
Assumption Il : Some rich are robbers.
(A) Assumption | is strong

(B) Assumption Il is strong

(C) Assumption | and Il are strong

(D) Neither assumption | nor Il is strong
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